THANE MUNICIPAL CORPORATION, THANK

A. E. Kalselear Rogulation No. (37)

Part Occupancy Certificate

1220

	HASE - II, 1 ^e and 2 nd Floor Only
V P No 90/272	TMC/TDD SOZ Date 7. 89/0/07
To, Shri Animiddha Gur, B/01, 02, Akansha, Panchpakhadi, Thane.	jar (Architect), Ravi Industries Road,
For : Daur ul Rehman Tr	ust
Sub :	Occupation Certificate for the proposed bldg on land bearing S No 99/3 (P), 101/2, 101/6 and 102/3, at Kausa, Thanc
	V P No 90272.
Your Le	etter: No. 45243, dated 17.02.2006
Sir,	erestine pre
No. Sector No and 102/3, Village / TPS Gurjar Licensed Surveyor / No. CA/89/12125 may b	ppment work/erection, re-erection or alteration in of building particulated at Road / Street Ward
1 Thane Municipal Com	poration will supply water as per availability
2) Before final Occupati	on Certificate Vacant Land Tax should be paid.
A set of certified completion (plan is returned herewith.
Oibordermen	- OST ORATION OF THE YOURS FAITHFULLY

मुख्या न पन्Date प्रमुखात एउट्टा द्वारते Copy to :

Executive Engineer Town Planning Deptt. Municipal Corporation of the SCity of Thane

A.E. KALSTON SEGNER COLLEGE Kausa, Mumbra, Thane - 400 612



KAUSA, MUMBRA
Permanently Affiliated to University of Mumbai
Accredited by NAAC with B++ Grade
ISO certified 9001: 2015

4.1.1: The Institution has adequate infrastructure and physical facilities for teaching-learning. viz., classrooms, laboratories, computing equipment etc.

S.N	DETAIL OF COLLEGE INFRASTRUCTURE	NUMBER S
1	Classrooms	24
2	Laboratories: Science Lab - 04 Computer Lab - 03 Electronic Lab - 01 Skill Development Lab - 03	11
3	Library	01
4	Seminar Hall	01
5	Open Auditorium	01
6	Computing Facilities: Teachers Reference Room – 01 Cyber Zone (For Students) – 01	02
7	Canteen	01

Detail of College Infrastructure

SR.NO	FLOOR	Class Room No.		Carpet Area	a (Sq. Ft.)
1	Gr Floor	1	Conference Room	18 X 27	486
2	Gr Floor	2	Admin Office	20 X 40	800
3	Gr Floor	3	Principal Office	15 X 20	300
4	Gr Floor	4	Vice Principal Office	15 X 15	250
5	Gr Floor	5	Visitors Room	10 X 10	100
6	Gr Floor	6	Multipurpose open area	14 X26	364
7	Gr Floor	7	Multipurpose open area	15 X 25	375
8	Gr Floor	8	Multipurpose open area	15 X 25	375
9	Gr Floor	9	Exam Room / NAAC	32 X 14	448
10	Gr Floor	10	Store Room	22 X 16	352
11	Gr Floor	11	Record Room	26 X 30	780
12	Gr Floor	12	Exam and Admission counter	23 X 42	966
13	1st	101	Botany Lab	22 X29	638



KAUSA, MUMBRA

14	1st	102	Zoology Lab	48 X 46	2208
15	1st	103	Chemistry Lab	48 X 36	1720
16	1st	104	Physical Chemistry Lab	46 A 30	1728
17	1st	105	Skill development Lab	44 X44	1936
18	1st	106	HOD Chemistry Dept	14 X 7	98
19	1st	107	HOD Zoology Dept	14 X 7	98
20	1st	108	Medical Room Counselling Cell	14 X 13	182
21	2nd	201	Management Room	22 X 29	638
22	2nd	202	NSS unit / DLLE	24 X 15	360
23	2nd	203	Career Guidance and Placement Cell / Student Council	12 X 15	180
24	2nd	204	Girls Common Room	16 X 36	576
25	2nd	205	FYBAF	15 X 36	540
26	2nd	206	Seminar Room	26 X 48	1248
27	2nd	207	Staff Room (Aided)	15 X 30	450
28	2nd	208	Gymkhana	29 X 44	1276
29	2nd	208	Gymnasium	14 X 44	616
30	3rd	301	SYBCOM B	22 X 29	638
31	3rd	302	TYBA - G1	15 X 36	540
32	3rd	303	TYBCOM A	33 X 36	1188
33	3rd	304	SYBCOM A/TYBSC - CHEM	26 X 48	1248
34	3rd	305	TYBA - G2 / TYBSC - ZOO	15 X30	450
35	3rd	306	FYBCOM A	30 X44	1320
36	3rd	307	OPTIONAL	14 X 44	616
37	3rd	308	SYBA	14 X 44	616
38	3rd	309	FYBA	14 X 34	476
39	3rd	310	Women Development Cell	8 X 8	64
40	4th	401	TYBBI	14 X 22	308
41	4th	402	SYBBI	14 X 22	308
42	4th	403	M.COM I	15 X 36	540
43	4th	404	Unaided Staff Room	16 X 36	576
44	4th	405	SYBSc	15 X 36	540
45	4th	406	FYBCOM B	26 X 48	1248
46	4th	407	Boys Common Room	15 X 30	450
47	4th	408	FYBMS	14 X 44	616
48	4th	409	TYBCOM - B	14 X 44	616
49	4th	410	TYBMS	14 X 44	616
50	4th	411	FYBBI	14 X 38	532
51	4th	412	SYBMS	14 X 34	476



KAUSA, MUMBRA

Permanently Affiliated to University of Mumbai Accredited by NAAC with B++ Grade ISO certified 9001: 2015

52	5th	501	FYBSc	22 X 29	638
53	5th	502	LIBRARY & CYBER CAFÉ	46 X 48 + 8 X 14	2320
54	5th	503	COMPUTER LAB	40 X 32 + 17 X 16	1552
55	5th	504	FYBSC - IT	14 X 44	616
56	5th	505	SYBSC - IT	14 X 44	616
57	5th	506	TYBSC - IT	14 X 44	616
58	5th	507	BSc IT Lab (Electronics)	14 X 40	560
59	5th	508	Circulation Counter /Teachers Ref. Room	13X39	507

Photographs of the facilities (Classrooms)







KAUSA, MUMBRA











KAUSA, MUMBRA









KAUSA, MUMBRA











KAUSA, MUMBRA

Permanently Affiliated to University of Mumbai Accredited by NAAC with B++ Grade ISO certified 9001: 2015



Photographs of the facilities (Laboratories)







KAUSA, MUMBRA

Permanently Affiliated to University of Mumbai Accredited by NAAC with B++ Grade ISO certified 9001: 2015





Skill Development Centre

Lab – 1 (Baking Technician lab)







KAUSA, MUMBRA

Permanently Affiliated to University of Mumbai Accredited by NAAC with B++ Grade ISO certified 9001: 2015

Lab – 2 (Multi-Skill Technician Lab)



Lab - 3 (Fish and Sea Food Technician Lab)



Photographs of the facilities (Library)





KAUSA, MUMBRA

Permanently Affiliated to University of Mumbai Accredited by NAAC with B++ Grade ISO certified 9001: 2015

Photographs of the facilities (Seminar Hall & Open Auditorium)





Photographs of the facilities (Teacher Reference Room & Cyber Zone)



